
A totem pole is 60m tall. A model totem pole is 2m tall. What is the scale as a ratio?

Totem pole

60m

2m

Model

Scale

60:2

1:ݔ 

A ship is 120m long. How long is the model in centimeters if the scale is 60:1

120m

Ship
Model

? cm

÷ 2÷ 2 A scale ratio is 
thus simplified 
ratio

       60: 1

120 ݉: ݉ ݔ

30: 1

60 ÷ 2 = 30

× 2 × 2

1 × 2 = 2݉

1 ݉: 100 ܿ݉

݉ܿ ݔ:݉ 2
× 2 × 2

100ܿ݉ × 2 = 200 ܿ݉

1 2

1 ݉ = 100 ܿ݉

The model ship is 200 cm

The Burj Khalifa I Dubai is 830 m tall. A scale model is 2 m tall. What is the scale ratio?

A model of the Titanic is 200 cm long. How long was the Titanic in meters if the scale was 1:135?
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